3A20H (L) AayT vy Ansh g &
OF Y7855 (HDCP_EFR40.8. 13— /LD _EfRPard 2532, [Fl—y OB SENERL (DHDCPIE @4FEAIE)
OLF—/L #Ba—2:2 3 4 5 8 9 HEta—2:123456 Ba—2:1346738

K4 | £ | B | Total | HDCP | ®vh =0
g K S 41 44 85 16.8 68.2| TSR3 RFA/xN—

WA R H ik 39 47 86 16.8 69.2( AT 4 F ¥ AL H—

3 || R oo 37 37 74 3.6 70.4[TL F¥T 41— 7

4 | B iE = 47 50 97 26.4 70.6|TL RAR

5 |& T o x 55 47 102 31.2 70.8|TL ARAR X7

6 [/ 75 52 41 42 83 12 71| TL I=p—hk 7

T |E H E2) 42 45 87 15.6 71.4|TL RAR RS

8 ' A B — 47 46 93 21.6 71L.4[TL &7

9 [E Sk X 0 41 39 80 8.4 71.6|TL RAR R

10 |fK H A S 42 44 86 14.4 71.6|TL I=h—h w7

1 (am M i 42 44 86 14.4 71.6

12 IR & I 44 42 86 14.4 71.6

13 & 3 1E = 41 44 85 13.2 71.8

14 | s} K fn 44 47 91 19.2 71.8

15 |&F H - 46 44 90 18 72[TL I=h—tp 2

6 |= & H % 49 47 96 24 72

17 Hdb K & 35 36 71 -1.2 72.2

18 |4& It ik 42 41 83 10.8 72.2

19 |i 1E N 43 45 88 15.6 72.4

20 |k A B8 53 41 94 21.6 72.4|TL b=k

21 & Gl W 40 41 81 8.4 72.6

22 | H ook 39 47 86 13.2 72.8

23 |8 VN 40 39 79 6 73

24 | K B = 43 48 91 18 73

25 |/ A& 53 50 103 30 73[TL I=F—tp

26 |k VA E 44 46 90 16.8 73.2

27 |8 K wm oz 49 41 90 16.8 73.2

28 |F [EA 7= 46 50 96 22.8 73.2

29 |t = JE N 51 45 96 22.8 73.2

30 |3 i R 42 41 83 9.6 73.4[TL U= T ok

31 |® N (S 43 40 83 9.6 73.4

2 |5 K X F 50 45 95 21.6 73.4

33| I Hooo— 53 54 107 33.6 73.4

3 | B & 46 42 88 14.4 73.6

35 A N 46 42 88 14.4 73.6|TL 7—F— w7

6 |H Ek " — 46 48 94 20.4 73.6

37 | M N 38 43 81 7.2 73.8

L (I 7 Mt 43 50 93 19.2 73.8

39 |m OB & i 44 49 93 19.2 73.8

40 |[#  k *®x - 51 48 99 25.2 73.8|TL /S—AFR—F

41 | M PN 46 53 99 25.2 73.8

12 |ZE M g = 46 40 86 12 74

43 [ R i A 43 43 86 12 74

4 |F = &m 5B 46 52 98 24 74

45 [k B =S ] 38 41 79 4.8 74.2|TL 77%HY—R—F

46 [+ g I 45 40 85 10.8 74.2

47 |7 H = 43 42 85 10.8 74.2

48 |\ B Ok O = 40 45 85 10.8 74.2

49 B X E 2 39 46 85 10.8 74.2

50 |t& & E Ml 40 51 91 16.8 74.2(Aa3 0T 4F AaL s —




3A20H (BL) AayT vy Ansdh g &
OF Y7855 (HDCP_EFR40.8. 13—/ _EfRPard 2532, [Fl—2y OB SENERL (DHDCPIE @4FEAIE)
OLF—/L #Ba—2:2 3 4 5 8 9 HEta—2:123456 Ba—2:134678

Jigz K4 By | m+ | B | Total | HDCP | X%vb H b
51 |ir  JER = S 48 43 91 16.8 74.2
52 K & % H 49 48 97 22.8 74.2
53 B X 7’ W 44 40 84 9.6 74.4
54 | 7K I 43 41 84 9.6 74.4
55 |%& i oo 43 47 90 15.6 74.4|TL Fvy/
56 |Z R i 47 49 96 21.6 74.4
57 | H B! Z 53 55 108 33.6 74.4
58 | # e % 38 45 83 8.4 74.6
59 |8 K 7 fn 43 46 89 14.4 74.6
60 |/ 7 =% 53 42 95 20.4 74.6|TL NVaT7 7R —F
61 W & K B F 52 49 101 26.4 74.6
62 |5 H H & 54 47 101 26.4 74.6
63 | H & 44 38 82 7.2 74.8
64 | Il = S 42 40 82 7.2 74.8
65 | KX I B A 40 42 82 7.2 74.8|TL AR—Ar—=%
66 |= il 3 45 43 88 13.2 74.8
67 | I b 48 46 94 19.2 74.8
68 | F HEOt 45 49 94 19.2 74.8
69 | ] e HE 48 52 100 25.2 74.8
70 |E PN 48 52 100 25.2 74.8|F] A4
1 R [ S 42 39 81 6 75
72 |3 % 1 47 46 93 18 75
3E 5 & 53 46 99 24 75
74\ T Wi 54 51 105 30 75
7% R® ) B 2 58 53 111 36 75|F] 2V T ~—H—
76 |7 )l E 3 42 44 86 10.8 75.2
7 |& (= 1% 41 45 86 10.8 75.2
78 MR I e 41 45 86 10.8 75.2
79 |/ b S 49 43 92 16.8 75.2
80 |# fit I 49 43 92 16.8 75.2|TL I=k—kp7
81 |t % ¥ 3 40 45 85 9.6 75.4
g2 | &7 I ¥ 46 45 91 15.6 75.4
83 |l &K ST 42 49 91 15.6 75.4
84 | R k- — 51 46 97 21.6 75.4
85 |A i I e 41 43 84 8.4 75.6|TL R—/LAr—2
86 |E M n o — 48 48 96 20.4 75.6
87 |k R o 47 49 96 20.4 75.6
88 & H H & 49 59 108 32.4 75.6
89 |+ B IE W 42 41 83 7.2 75.8
90 |k ] B 46 49 95 19.2 75.8|TL Va7 7R —F
91 |fK i H#0k 53 48 101 25.2 75.8
92 |k K ;SN 46 42 88 12 76
93 | i W 48 46 94 18 76
94 |k R o F 56 50 106 30 76
9% /N IS n 50 56 106 30 76| TL NYaT7 TR —F
9% |+ B e — 39 42 81 4.8 76.2
97 | H = — 44 43 87 10.8 76.2
98 I R e B 46 47 93 16.8 76.2
9 |&®m 1 = 48 51 99 22.8 76.2
00 | K FE 50 55 105 28.8 76.2| A3 T 4F ¥ AR /K —




3H20H (L) AayT vy Ansdh g &
OF A~V 7858 (HDCP_EFR40.8, 17—/ D _EfRPard 2532, [Fl—y OB SENERL (DHDCPIE @4FEAIE)
OLF—L #Ha—2:2 3 4 5 8 9 HEta—2:123456 Ha—x2:134678

101 |8 BE 5B 41 39 80 3.6 76.4

02 | &K L/ 47 45 92 15.6 76.4

103 |BxX 2 A 48 49 97 20.4 76.6

04 | A #* [+ 49 54 103 26.4 76.6

105 |H&  H B E 49 54 103 26.4 76.6|F] <~ FHv s
106 |k H o 3 59 56 115 38.4 76.6

107 |7 i i 46 38 84 7.2 76.8

108 |AK & M K 43 41 84 7.2 76.8

109 | A 7N 41 43 84 7.2 76.8

1o i X IE A 42 48 90 13.2 76.8|TL R—n4r—2
1y (& 3 =# — 44 46 90 13.2 76.8

112 |5 = 3 46 44 90 13.2 76.8

113 [@m W iE AT 41 55 96 19.2 76.8

114 | R N 47 55 102 25.2 76.8

15 |= A M I 43 46 89 12 T7\TL ANYa T T R—F
e | R % 49 46 95 18 77

ur s oK E K 46 49 95 18 77

18 [/~ B oo # 39 43 82 4.8 77.2

119 | H mF 46 48 94 16.8 77.2

120 |Wm AR B R 54 46 100 22.8 77.2|TL 7o H)—R—F
121 |A i #’ % 51 55 106 28.8 77.2

122 | H 1 48 45 93 15.6 77.4

123 (£ I 7 K& 46 47 93 15.6 77.4

124 [ A #F 8 49 50 99 21.6 77.4

125 |7 XK F % 55 50 105 27.6 77.4|TL b=k
126 | & PN 55 56 111 33.6 77.4

127 | M o®m x5 T 58 53 111 33.6 77.4

128 |& M it Z 46 46 92 14.4 77.6

129 [k M B 47 45 92 14.4 77.6

130 (@ 15 #w E 49 49 98 20.4 17.6|F] ¥¥v7

131 |# iy ESHUN 49 49 98 20.4 77.6

132 [ B B K 54 50 104 26.4 77.6

133 |4 M = 47 38 85 7.2 77.8

134 | B o Z 42 43 85 7.2 77.8

135 |l H o 45 46 91 13.2 77.8|F] v a—R4r—2
136 [#E A& e 3k 48 43 91 13.2 77.8

137 [ & ES 44 47 91 13.2 77.8

138 |+ it oo 50 47 97 19.2 77.8

139 ||m #t 17 = 51 52 103 25.2 77.8

140 | B [ 48 55 103 25.2 77.8|TL NVaT7 7R —TF
141 |72 eS| 51 45 96 18 78

42 | B B 8 & 46 50 96 18 78

143 |l A& T KOS 53 49 102 24 78

44 P H L= 54 54 108 30 78

145 [ #® #H & F 42 41 83 4.8 78.2|TL R—/LAr—2
146 |1% ok £ 48 47 95 16.8 78.2

147 |l E 51 50 101 22.8 78.2

148 |22 A T OHR oz 50 57 107 28.8 78.2

49 (& T R K 41 41 82 3.6 78.4

150 B (£ R 48 40 88 9.6 78.4[Aa T 4F AaL s —




3A20H (L) AayT vy Ansdh g &
OFH Y7858 (HDCP_ERR40.8, 17—/ D _EfRPard 2532, [Fl—y OB SENERL (DHDCPIE @4FEAIE)
OLF—L #Ha—2:2 3 4 5 8 9 HEta—2:123456 Ba—2:134678

151 |l H woE 48 46 94 15.6 78.4

152 (% Hh 2 52 48 100 21.6 78.4

153 |#E i i &) 50 50 100 21.6 78.4

54 |+ =B CINE 52 54 106 27.6 78.4

155 H I 47 59 106 27.6 78.4|F] Vo7 R2KHE
156 |7& i i = 48 45 93 14.4 78.6

157 |# % (3 49 50 99 20.4 78.6

158 [#+ H * 48 51 99 20.4 78.6

159 |fE % Xk 46 52 98 19.2 78.8

160 |FF H W AT 53 51 104 25.2 78.8|TL R—/LAr—2
161 |g87 K H B 44 41 85 6 79

162 & /A 50 53 103 24 79

163 [fn FH G + 49 54 103 24 79

164 |F% K 75 E 56 53 109 30 79

165 [k 5 S 57 52 109 30 79|TL ~ULh

166 |85 K B OE 41 49 90 10.8 79.2

167 | A K 50 46 96 16.8 79.2

168 | i 46 50 96 16.8 79.2

169 |& Ji & — 54 54 108 28.8 79.2

170 |85 A it 49 65 114 34.8 79.2|TL Va7 7 VR —F
171 |2 RE = — 65 55 120 40.8 79.2

172 |& M 5O 48 47 95 15.6 79.4

173 |9 #F #£ A 51 50 101 21.6 79.4

174 [#& ] B 51 56 107 27.6 79.4

175 [= x£ K 57 50 107 27.6 79.4|TL 2V ~—T1—
176 |& It F 40 48 88 8.4 79.6

77 Rk o W 53 53 106 26.4 79.6

178 | H E = 61 45 106 26.4 79.6

179 [BX % = | £ 57 55 112 32.4 79.6

180 |#n H HE 48 45 93 13.2 79.8|TL R—/LAr—2
181 [/ B O E M F 46 53 99 19.2 79.8

182 [FF A& —  f# 53 52 105 25.2 79.8

183 (B M W 52 53 105 25.2 79.8

184 |5 E E A 51 47 98 18 80

185 [T #F w - 51 47 98 18 80|TL Uo7 7 )VAR—F
186 |t = E O E 48 56 104 24 80

187 |8 A L BB 54 42 96 15.6 80.4

188 [ 1 LSS 50 51 101 20.4 80.6

189 | H ot 45 56 101 20.4 80.6

190 |¥2 H RS 55 52 107 26.4 80.6|F] v a—X4—=2
191 | i I 55 52 107 26.4 80.6

192 |2 5 ih 50 63 113 32.4 80.6

193 & & fif - 55 51 106 25.2 80.8

194 | % X 53 53 106 25.2 80.8

195 [& Ak %5 & 58 54 112 31.2 80.8|TL AVXAHR—/L 14 —2R
196 [N 4 A S 55 56 111 30 81

197 [ &= JiII &K E 50 54 104 22.8 81.2

198 |iE & w M 48 56 104 22.8 81.2

199 (M &= /B K B 55 49 104 22.8 81.2

200 | A% 2 58 58 116 34.8 81.2|TL RAR




3H20H (L) AayT vy Ansdh g &
OF A~V 7858 (HDCP_EFR40.8, 17—/ D _EfRPard 2532, [Fl—y OB SENERL (DHDCPIE @4FEAIE)
OLF—L #Ha—2:2 3 4 5 8 9 HEta—2:123456 Ha—x2:134678

200 | & w X T 52 51 103 21.6 81.4

202 [= = E 62 59 121 39.6 81.4

203 |4 H Ifa 51 51 102 20.4 81.6

204 |2 K i 49 53 102 20.4 81.6

206 (M B o Fn 56 52 108 26.4 81.6|TL ~A2m7r A "—2F L
206 [¥E & A 59 60 119 37.2 81.8

207 (& R & 54 52 106 24 82

208 |1l FH A 56 56 112 30 82

209 Il | & 56 55 111 28.8 82.2

210 | R T A& 56 61 117 34.8 82.2|F] RAR s
211 & H =3 57 59 116 33.6 82.4

212 |88 f& H K 61 55 116 33.6 82.4

213 &8 K U S 61 61 122 39.6 82.4

214 o B w1 53 50 103 20.4 82.6

215 |9 iy X 48 48 96 13.2 82.8|TL R—/LAr—=
216 Il H g AT 49 53 102 19.2 82.8

217 W Ek oW 48 54 102 19.2 82.8

218 |7 w E] 56 58 114 31.2 82.8

219 (k| b 42 47 89 6 83

220 R M S 54 58 112 28.8 83.2|FL F RNy
221 [ BB mo 57 61 118 34.8 83.2

222 | M1 B K A W 53 65 118 34.8 83.2

223 |hE i £ 51 42 93 9.6 83.4

224 (BB IR B Z 45 53 98 14.4 83.6

225 |H & ¥t = 61 55 116 32.4 83.6|TL h—h/3v7
226 |#& US % 62 59 121 37.2 83.8

227 |k R o [ 50 58 108 24 84

228 |B X B A 54 60 114 30 84

229 (&£ = 5 59 55 114 30 84

230 |F% R Vi 59 66 125 40.8 84.2|TL R—/Lr—2A
231 | I x & 49 57 106 21.6 84.4

232 &7 K R 51 54 105 20.4 84.6

233 [N B ik 55 56 111 26.4 84.6

234 [fK M X N 67 56 123 38.4 84.6

235 | = oA = & 55 61 116 31.2 84.8|F] w7 A4k
236 | % W A 58 64 122 37.2 84.8

237 [ E % 1A 63 58 121 36 85

238 | L W — 60 61 121 36 85

239 [+ = B A 57 57 114 28.8 85.2

240 |@m R % A 62 58 120 34.8 85.2|TL ~Ara77A/N\—ZA )L
241 |#& K ES 62 64 126 40.8 85.2

242 [ iR 2 63 63 126 40.8 85.2

243 | ) S 62 56 118 32.4 85.6

244 [k E = 57 60 117 31.2 85.8

245 [l K A 58 51 109 22.8 86.2|F] /w7 A28k
246 | B e EIS 54 61 115 28.8 86.2

247 | H #w AT 51 62 113 26.4 86.6

248 | H EI 57 49 106 19.2 86.8

249 &% A =BH /& T 63 55 118 31.2 86.8

250 |k B e £ 57 60 117 30 87|TL H—hKR—F




OfELA—v

3H20H () AavTadyArs M iE—E
OF Y785 (HDCP_ERR40.8. 13— /LD _EfRPard 2532, [Fl—y OB SENERL (DHDCPIE @4 EAIE)
Bta—=%:123 456 Ha—x:13467S38

f=a—2:2 3 4 5 8 9

251 [ib K [ 61 59 120 32.4 87.6

262 [ F  E &E F 64 55 119 31.2 87.8

263 @ A& m = 65 64 129 40.8 88.2

254 (il Hh *x 67 62 129 40.8 88.2

255 | H B2 R 64 64 128 39.6 88.4|TL R—/LAr—2
266 [ R € K #A 61 67 128 39.6 88.4

257 |k gl 1= 68 62 130 40.8 89.2

258 [ K w & 65 56 121 31.2 89.8

259 [/ % v 63 61 124 33.6 90.4

260 |& 1 % 55 67 122 31.2 90.8|F] ZUy 7 ~—J1—
261 (L M X 64 58 122 31.2 90.8

262 |4 H L J T 66 68 134 40.8 93.2

263 (&I T N 68 63 131 37.2 93.8

2604 (B 8 7 W 73 64 137 40.8 96.2

265 = W8 ¥ 80 72 152 40.8]  111.2|TL @vziariR—F
266 |k K i N 75 78 153 40.8 112.2

267 [ w0 AH OB T 82 74 156 40.8]  115.2

268 |k B I 85 78 163 40.8 122.2

269 [lB % X & 79 85 164 40.8]  123.2

BB [0 % X 1 77 88 165 40.8]  124.2|TL F¥T — o7
BM (il A ¥ At 91 74 165 40.8 124.2|TL R—/LiR—F
BG |4t &K KK 35 36 71 -1.2 72.2|TL B—k_ w7

ZHE/TL NewProVl 1RJ—7




